
UJHO IS RE~□YTO BECOME 
~ P~LEONTOLOGIST? 

Link to our exhi bit: "Al/osaurus" 

MF'l CR OPF'l LE ON TOLOEi Y F'lN□ □IN□SF'lURS 
EiF'lME 1: Do you know which animal is the descendant of dinosaurs? • • .. • .. . -- .Take the letters that corresponds to the correct answers and place them ... .... • I • 

answer to this tricky question. 

QUESTIONS TRUE FALSE 
1 Dinosaur means terrible lizard. BIR LES 
2 Ve/ocirantorwas a dinosaur that could flv. JOL DSA 
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0the 483 0 Td
(u)Tj
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0s an=a s BI rs 1 rs nosau



Write the letters from the correct answers in order in this 
note pad to find out the answer to our question: 

------. ----- ----· ---
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!SAME 2: □□ 'd□U KN□W 
H□W MAN'd M ILL IONS 
'dEARS AIS□ THE 
□IN□SAURS BECAME 
EXT INCT? 

To find out, do our little math game with us! The 
numlier indicated on the eggs on top of the nest 
equal the sum of the number written on the two 
eggs IJelow. If you fill out the entire pyramid of eggs 
following the same logic, you will 






